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INSTRUCTIONS: 

1. Do not write anything on this question paper. 
2. Attempt Question One (compulsory) and any other TWO questions. 

QUESTION ONE-30 MARKS 

a) Define Biostatistics       [2 Marks] 

 

b) Explain 5 importances of studying Biostatistics   [5 Marks] 

 

c) State and explain two types of data     [4 Marks] 

 

d) State and explain 4 common statistical terms.   [4 Marks] 

 

e) Differentiate between Type I error and Type II error.  [4 Marks] 

 

f) Find  for each of the following degrees of freedom; 

 

i) 6        [2 Marks] 

ii) 30        [2 Marks] 

 

g) Assume that a drug causes a serious side effect at a rate of three patients per one 

hundred. What is the probability that 
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i) At least 1 person will have side effects in a random sample of ten patients 

taking the drug?      [3 Marks] 

ii) At Most 4 people will have side effects in a random sample of ten patients 

taking the drug?      [4 marks] 

h) In attempting to control the strength of the wastes discharged into a nearby river, an 

industrial firm has taken a number of restorative measures. The firm believes that they 

have lowered the oxygen consuming power of their wastes from a previous mean of 

450 manganate in parts per million. To test this belief, readings are taken on n=20 

successive days. A sample mean of 312.5 and the sample standard deviation 106.23 

are obtained. Assume that these 20 values can be treated as a random sample from a 

normal population. Testtheappropriatehypothesis. Use .  [4 Marks] 

 

i) When 16 seventeen-year-old women were randomly selected and tested with an 

aerobics test, the mean of their scores was found to be 37.9 with a sample standard 

deviation of 7.3. Construct both a 90% confidence interval and a 99% confidence 

interval for the mean.        [6 Marks] 

 

QUESTION TWO-15 MARKS  

The grouped data in Table below represent the number of children from birth through the end 

of the teenage years in a large apartment complex. Find the mean, mode, median, variance, 

and standard deviation for these data: 

No of children and their age group 

Class 0-3 4-7 8-11 12-15 16-19 

Frequency 7 4 19 12 8 

 

QUESTION THREE-15 MARKS 

a) A survey asked a group of 400 people whether or not they were doing daily exercise. 

The responses by Gender and Physical activity are as in table below. 

 Male Female 

Daily Exercise 50 61 

No Daily Exercise 177 112 

 

 A person is randomly selected. 

i) What is the probability that this person is doing daily exercise? [3 Marks]  

ii) What is the probability that this person is doing daily exercise if we know that this 

person is a male?       [3 Marks] 

b) Assume 2 out of 15 people have visited a doctor in any given month. If 20 people are 

selected at random. Find; 

i) The probability that exactly 4 have visited a doctor last month. [3 Marks] 

ii) The probability that at most 3 have visited a doctor last month. [3 Marks] 

iii) The probability that at least 5 have visited a doctor last month. [3 Marks] 
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QUESTION FOUR-20 MARKS 

 

a) In a competitive examination of 5000 nursing students, the marks of the examinees 

in Biostatistics were found to be distributed normally with mean 45 and standard 

deviation 14. Determine the number of nursing students whose marks out of 100 were 

 

i)  Less than 30        [5 Marks] 

iii) Between 30 and 70       [5 Marks] 

iv)  More than 40        [5 Marks] 

 

QUESTION FIVE-15 MARKS 

A study was conducted to find out whether there is any relationship between the 

Weight and blood pressure of an individual. The following set of data was arrived at 

from a clinical study. 

Weight 

(X) 

78  86 72 82 80 86 84 89 68 71 

Blood 

Pressure 

(Y) 

140  160 134 144 180 176 174 178 128 132 

 

i)  Fit the least squares regression equation relating the blood pressure Y of an 

individual to their weight x.      [6 Marks] 

ii)  Calculate the correlation coefficient for your data.     [6 Marks] 

iii)  Predict the weight of an individual whose blood pressure is 150.   [3 Marks] 
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CHI-SQUARE TABLE 

 


